x |0]os[10[15]20
fol3[3]ss |13

. A table of values for a continuous function £ is shown above. If four equal subintervals of [0.2]

are used. which of the following is the trapezoidal approximation of j ; Sf(x)dx?

. A table of values for a continuous function f is shown above. If four equal subintervals of [0. 2]

(A) 8 ®) 12 € 16 D) 24 E) 32 are used, which of the following is the trapezoidal approximation of [ ; Fx)dc?

(:—34 "‘(3*1‘1)¢< ) ()
3’.—- 7 |6+8+1 3+21 |

+Qe)




THEOREM 4.16 The Trapezoidal Rule

Let f be continuous on [a, b]. The Trapezoidal Rule for approximating
J! £(x) dx is given by

(2]
J flx) dx =

Moreover, as n— oo, the right-hand side approaches J’:j'[x) dx

)+ 2fle) + o 26, ) + £

#12 Find the average value of f(x) = sinx on the interval

a1y
1y

NOTE: think about what "average value™

would mean!! (see pg. 286)
T

2

Sum § valles: Ss;r\x Ax

(‘3\) ~cos X (

B PRy

(3)% -5
7)% -5

(]

VW

ANSWER:

3

)




Theorem 4.10 Mean Value Theorem for
Integrals and Figure 4.30

THEOREM 4.10 Mean Value Theorem for Integrals

If f is continuous on the closed interval [a, b]. then there exists a number ¢ in
the closed interval [a, b] such that

(3
J flx) dx = fle)db — a).

Mifflin Company. All rights reserved.

Definition of the Average Value of a Function
on an Interval and Figure 4.32

Definition of the Average Yalue of a Function on an Interval

If f is integrable on the closed interval [, b], then the average value of f on
the interyal i

Average value

/
[ &
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® p.280 #47, 48, 49 (using graphs to integrate)
® p.291 #48, 50~ (average value)
® p.292 #54-60 (average value using graph)

04 60) ‘P(X)C(OS'X [01%1
g2t
48) £x)= ERY

mgwne 7 S )

\
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